WAC 173-900-930 Calculating the total equivalent share.
Step 1: Calculating individual manufacturer equivalent share.

(1) For program year 2016, and all subsequent program vyears,
ecology will determine the total equivalent share for each manufactur-
er in the standard plan or an independent plan by dividing the market
share percentage for each manufacturer by one hundred, then multiply-
ing the quotient by the total weight in pounds of CEPs collected for
that program year not including any CEPs, components or parts gleaned
for reuse, for that program year and any additional credited pounds
under WAC 173-9500-940.

(2) The manufacturer is responsible for distributing responsibil-
ity for equivalent share among its past and present licensees.

Step 2: Calculating a plan's equivalent share.
(3) A plan's equivalent share is equal to the total of the equiv-
alent shares for all manufacturers participating in the plan.

[Statutory Authority: RCW 70.95N.230. WSR 16-06-107 (Order 15-03), §
173-900-930, filed 3/1/16, effective 4/1/16. Statutory Authority:
Chapters 70.95N, 70.105, and 70.105D RCW. WSR 07-21-013 (Order 07-05),
§ 173-900-930, filed 10/5/07, effective 11/5/07.]
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